Name Date

Presents for Hanukkah
Finding the Divisiblity Rule

Directions: Solve for the following divibility rule problems.
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Is 4,289,756 divisible by 3? Which of the following makes
> divici 5
O Yes O No 2,874,027 divisible by 47
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Which of the following makes 36,487 Is 16,523,078 divisible by 8?
divisible by 10? O O
Yes No
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Name Date

Presents for Hanukkah
Finding the Divisiblity Rule
Answer Key

Directions: Solve for the following divibility rule problems.
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I 3.
's 4,289,756 divisible by 3? Which of the following makes
5 divied 5
O Yes . No 2,874,027 divisible by 47
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Which of the following makes 36,487 Is 16,523,078 divisible by 8
divisible by 10? O .
Yes No
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